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Hess’s Law Worksheet

Given the following equations and 
1. 

C(s) + O2(g) [image: image1.png]


 CO2(g)


[image: image2.png]


Ho/kJ = -393.5


H2(g) + 1/2 O2(g) [image: image3.png]


 H2O(l)

[image: image4.png]


Ho/kJ = -285.8


CO2(g) + 2 H2O(l) [image: image5.png]


 CH4(g) + 2 O2(g)
[image: image6.png]


Ho/kJ = +890.3

C(s) + 2 H2(g) [image: image7.png]


CH4(g)                                       
2.                     

1/4 P4(s) + 3/2 Cl2(g) [image: image8.png]


 PCl3(g)
                      [image: image9.png]


Ho/kJ = -306.4


P4(s) + 5 O2(g) [image: image10.png]


 P4O10(g)
                       [image: image11.png]


Ho/kJ = -2967.3


PCl3(g) + Cl2(g) [image: image12.png]


 PCl5(g)
                       [image: image13.png]


Ho/kJ = -84.2


PCl3(g) + 1/2 O2(g) [image: image14.png]


 Cl3PO(g)
                      [image: image15.png]


Ho/kJ = -285.7

P4O10(g) + 6 PCl5(g) [image: image16.png]


10 Cl3PO(g)                            
3.
 C(graphite) + 1/2 O2(g) [image: image17.png]


 CO(g)

               [image: image18.png]


Ho/kJ = -110.5 kJ


CO(g) + 1/2 O2(g) [image: image19.png]


 CO2(g)

                         [image: image20.png]


Ho/kJ = -282.9 kJ


H2(g) + 1/2 O2(g) [image: image21.png]


 H2O(l)

                         [image: image22.png]


Ho/kJ = -285.8 kJ


C(graphite) + 2 H2(g) [image: image23.png]


 CH4(g)

                         [image: image24.png]


Ho/kJ = -74.8 kJ

4 CO(g) + 8 H2(g) [image: image25.png]


3 CH4(g) + CO2(g) + 2 H2O(l)       
4. Define the following terms: 

a) enthalpy 

b) exothermic 

c) First Law of thermodynamics 

e) calorimetry
